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QUESTION 1

The Service Loose Coupling principle is concerned with the relationship between the service contract and service
consumers but also with the relationship between the service contract and whatever the service encapsulates. Select
the correct answer.

A. True

B. False

Correct Answer: A

QUESTION 2
Common problems associated with silo-based application design include: SELECT ALL THAT APPLY

A. It can result in a significant amount of waste due to the fact that silo-based applications can have significant
redundant functionality.

B. It can result in bloated, oversized technical environments.

C. The integration effort required to make disparate silo-based applications interoperate can be complex and
expensive.

D. IT operational costs can continue to escalate as more silo-based applications are added to an IT enterprise.

Correct Answer:. ABCD

QUESTION 3
When applying the Service Loose Coupling design principle, we want to the coupling of the
service logic to the service contract because that allows the service contract to remain from the

service logic. Select the correct answer.
A. increase, decoupled

B. reduce, decoupled

C. increase, coupled

D. reduce, coupled

Correct Answer: A

QUESTION 4

Which of the following is a common challenge imposed by the adoption of service- orientation? Select the correct
answer.
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A. Service-orientation introduces the need for design standards, which need to be followed and enforced.
B. Service-orientation requires that you commit to one vendor platform, which can limit your product options.
C. Service-orientation requires that services be protected from repeated reuse, which can reduce potential ROI.

D. Service-orientation introduces the need to make all implementation details about each service publicly available,
which can lead to the misuse of this information by some project teams.

Correct Answer: A

QUESTION 5

The service-oriented architectural model is business-driven so that it can stay in alignment with how the business may
change over time. Select the correct answer.

A. True
B. False

Correct Answer: A
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